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1. (243)

Mgy, +2HCl,,,, - MgCl

(aq) 2(aQ) 2 ()

Mg, +2H,,) = Mgz +H

(aq) 2(9)

st S YA IERE - P AR EURHIERE o

2. (243)

6.8 cm x 1.00 g/cm®
13.6 g/cm® x 1 cm-Hg

stEH AR - MR R IERE -

75.88 cm-Hg- cm-Hg=75.38 cm-Hg

3. (241)
2
32.37 g3vv/cm _ 2.38cm-Hg
13.6 gw/cm” x1 cm-Hg
32.37 gw/cm?

75.38 cm-Hg- (=2.38cm-Hg)=73.00 cm-Hg

13.6 gw/cm® x1 cm-Hg
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4. (2741)

FH PV =nRT

73 I

75 x29.8x10™ =nx0.082 x 298

n=1.17 x10"*(mol)

SEERBI=1.17 x 107 x 24.3 =0.0284 (57)
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1. (247)
Fe

2. (243)
CuSO,

3.(251)

CuSO,+5H,0
Cu(H,0),S0,

SiHH 1 CuSO,+nH,O (N~ F5) 45 1 77

4. (251)
Cugy+ 2H,S0, ) = CUSO, 4+ SO, + 2 H,0,,
Cugy+ H,80,c0, +2 Hiyy — CUZ, + S0, +2H,0,
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